3 U030

3.1 00O

o000 GUOOO0O0OO0DHOOOOODODODOHOODOODODOOOHFDOODOOOD
goboobooboooboboAFOOODO GO0 G20000000D000O00D0O
g

(0) e0 GOOODUODDOUOOH ={e}0 GOODOOODOOOODODOO
eoe=e00 G110 G4O0OO0OOO

3.2 OO0

000 Gooo AOO00O
h,hoh=h?hohoh=h3---
O00oobog pA=e000000nO0000D00D0DO0OOO0GOOOOOOO
0o
hi = ht
000:04(>4)00000000000000 (RY)Y'Oooooao

@o-~-o@offlo-~-oh*£:@o~--o@o@*1o~--oh*1)

¢ R S B

goog
h-t=e

goooododoodoo

O00A=e0000000nDO kOO0 (order) 000000
H:{h,hQ,hS,---,h":e}

0GOO0000000AOO0O0O0O0D0DOOODODOO (eyclic group) 0000

HOOOOOOOOOoOoooOooooooooo
G1 hiohi = kit
B W’ e H (i+j<n)
B hiti-r e H (i4j > n)

G3 h = eeH
G4 piOO0OO A OOOOOOOO
hioh™t = h'=c¢
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(0) G={1,23,4,56}
OO0 : zoy=2xy mod700000

e h=20000O
h?=2x2=4
h=2x2x2=8=1 mod?7
O000A=2000000000000 H:{2,4,1}

e h=40000O
h?=4x4=2
h=2x4=1 mod?7
h=4000000000000 H:{4,2,1}

e h=060000
hW=6x6=1 mod?7
h=6000000000000 H:{ﬁ,l}

e h=30000O
h2=3x3=2 mod7
hW=2x3=6
h*=6x3=4 mod7
hW=4x3=5 mod?7
hW=5x3=1 mod?7
h=3000000000000 H=1{3,2,6,4,5,1} =G

3.3 Uunoogood

G:O
H:{hlze,hg,hg,"',hn}IGDDDD
Vee GOOO

xH ={xohy,xrohy,x0ohg,- - ,x0oh,}
godoooooooooooooooo

1. zHODODOOOODODOO
0000000000000 0q«#500000
xoh;=zo0h;

000 2z7'00000
hi = h;
000000000 m#h;(i#5)000000

2. y¢xHOOOyHNzH =0
yHO xHOOOOOOOOOO
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ggbboogogbbbdood.eyuogn

yoh; = wzoh,;
m m
yH xH

000000000 AR'00000 (yohi)oh;' = (xohj)oh;!
y=ao(hjoh;")

O00D0HOOODDOOOO0OO0OO b, e HOODDOO

hy = hjoh;!
0000000000y =20h, €cxHOOOOOOOy¢HODODODODOO

g0000O0bO0bOobooooooobO Goooooboooboo

(Dooooon
H hlze h2 h3 hn
g2 H g20h1 = go g2ohy gaohs - gyoh,
(gsH | gsohi=gs | gsohs gsohs -+ gsoh, 0000 )
gnH | Gmohi=0gm | gmoh2 gmohs -+ gmohy

() OO GOOODODOOO0OOOOO0O((@OOOOOODOOOODOOOODOO
O00g¢g0yg,n0000000D00COOO0OO)

(b) 000D GOOOO0O0O0O0O0O0O000O
000000000 ()0 (2)0000000ooon

00000000 HOOO (0)00000000 HO0000(0)00000
000 (0)00000000000000000 0000000000000
0o

(0)00000G={1,2,---,6}00000000
H={2,4,1}000000H000000000000

H |1 2 4
3H |3 6 5

00000000000000000 1030000H ={1,6}000000H
ggooood
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3H |3 4

goon
ggobooooboobuoooon

004 HODODOO GOODOOOOOOOOOHADOOODO GUDOOOOODODO

(O0) DODO0DO0O0OmORO000D0O0OOOOOOOOO 0

000GO000000000000000000000000000 GO0O000
0ooo0(@o0000oon)

3.4 0O (ring)

ORrROOOOD40000000002002000000+00000 -0D0O
gogboog

Rl ROODO+0O0DDOOOODODODO
R2 Va,be ROOOOa-be R(ODO)

R3 Va,b,ce ROOOO
a-(b-c)=(a-b)-c(000)

R4 Va,b,ce ROOO
a-(b+c)=a-b+a-c
(b+c)-a=b-a+b-a(000)

O000Ve,be ROODOOa-b=5b-(000)00000000000 (commutative
ring) 0 0 00O

OO0 5 ROOO 4+000D0DOO0ODOODO0DAODDD —eOODDOODOOO
gooobdb e be ROOOO

(1) a-0=0-a=0

(2) a-(=b) =(=a)-b=—(a-D)
0ooooo
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(@)

1) a-0Za-(0+0)Za-0+a-0
00000 —(¢-0)000000=¢-000000=0-¢0000

2 0Za-0Za - b+ (b)) Ea-b+a-(-b)
00000 —(¢-5)00000 —(a-b)=a-(~b)0000(—a)-b=—(a-b)
goog []
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